This report contains the transfers results.

Contest Name Wa

Ward 19 - Mearns

Valid Votes
Positions to be Filled
Quota

5,620 4 1,125

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Karen ALLAN	Scottish Green Party	233
George CARR	Scottish Conservative and Unionist	2,034
Patrick COFFIELD	Scottish Labour Party	220
Bill HOWATSON	Scottish Liberal Democrats	599
Jeff HUTCHISON	Scottish Conservative and Unionist	461
Dave STEWART	Independent	472
Leigh WILSON	Scottish National Party (SNP)	901
Carole WISE	Scottish National Party (SNP)	700
	Total	5,620

Candidate George CARR Elected with 2,034 votes, being in excess of the quota of 1,125

This report contains the transfers results.

Stage 2 - Surplus of George CARR

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Karen ALLAN	34	0.44690	15.19460
Transfer to George CARR	0	0.00000	0.00000
Transfer to Patrick COFFIELD	39	0.44690	17.42910
Transfer to Bill HOWATSON	230	0.44690	102.78700
Transfer to Jeff HUTCHISON	1,466	0.44690	655.15540
Transfer to Dave STEWART	101	0.44690	45.13690
Transfer to Leigh WILSON	30	0.44690	13.40700
Transfer to Carole WISE	12	0.44690	5.36280
Value of non-transferable ballot papers			54.52720
	Total		909.00000

This report contains the transfers results.

Stage 3 - Exclusion of Patrick COFFIELD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Karen ALLAN	2	0.44690	0.89380
Transfer to Karen ALLAN	35	1.00000	35.00000
Transfer to George CARR	0	0.00000	0.00000
Transfer to Bill HOWATSON	16	0.44690	7.15040
Transfer to Bill HOWATSON	59	1.00000	59.00000
Transfer to Jeff HUTCHISON	12	0.44690	5.36280
Transfer to Jeff HUTCHISON	20	1.00000	20.00000
Transfer to Dave STEWART	3	0.44690	1.34070
Transfer to Dave STEWART	28	1.00000	28.00000
Transfer to Leigh WILSON	3	0.44690	1.34070
Transfer to Leigh WILSON	20	1.00000	20.00000
Transfer to Carole WISE	10	1.00000	10.00000
Value of non-transferable ballot papers			49.34070
	Total		237.42910

This report contains the transfers results.

Stage 4 - Surplus of Jeff HUTCHISON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Karen ALLAN	63	0.00646	0.40698
Transfer to Karen ALLAN	31	0.01447	0.44857
Transfer to George CARR	0	0.00000	0.00000
Transfer to Patrick COFFIELD	0	0.00000	0.00000
Transfer to Bill HOWATSON	436	0.00646	2.81656
Transfer to Bill HOWATSON	126	0.01447	1.82322
Transfer to Jeff HUTCHISON	0	0.00000	0.00000
Transfer to Dave STEWART	309	0.00646	1.99614
Transfer to Dave STEWART	82	0.01447	1.18654
Transfer to Leigh WILSON	19	0.00646	0.12274
Transfer to Leigh WILSON	10	0.01447	0.14470
Transfer to Carole WISE	8	0.00646	0.05168
Transfer to Carole WISE	11	0.01447	0.15917
Value of non-transferable ballot papers			7.36190
	 Total		16.51820

This report contains the transfers results.

Stage 5 - Exclusion of Karen ALLAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to George CARR	0	0.00000	0.00000
Transfer to Patrick COFFIELD	0	0.00000	0.00000
Transfer to Bill HOWATSON	18	0.00646	0.11628
Transfer to Bill HOWATSON	18	0.01447	0.26046
Transfer to Bill HOWATSON	8	0.44690	3.57520
Transfer to Bill HOWATSON	87	1.00000	87.00000
Transfer to Jeff HUTCHISON	0	0.00000	0.00000
Transfer to Dave STEWART	15	0.00646	0.09690
Transfer to Dave STEWART	3	0.01447	0.04341
Transfer to Dave STEWART	9	0.44690	4.02210
Transfer to Dave STEWART	43	1.00000	43.00000
Transfer to Leigh WILSON	1	0.00646	0.00646
Transfer to Leigh WILSON	1	0.01447	0.01447
Transfer to Leigh WILSON	5	0.44690	2.23450
Transfer to Leigh WILSON	59	1.00000	59.00000
Transfer to Carole WISE	2	0.44690	0.89380
Transfer to Carole WISE	35	1.00000	35.00000
Value of non-transferable ballot papers			49.68037
	Total		284.94395

Aberdeenshire Council

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Dave STEWART

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Karen ALLAN	0	0.00000	0.00000
Transfer to George CARR	0	0.00000	0.00000
Transfer to Patrick COFFIELD	0	0.00000	0.00000
Transfer to Bill HOWATSON	108	0.00646	0.69768
Transfer to Bill HOWATSON	29	0.01447	0.41963
Transfer to Bill HOWATSON	44	0.44690	19.66360
Transfer to Bill HOWATSON	216	1.00000	216.00000
Transfer to Jeff HUTCHISON	0	0.00000	0.00000
Transfer to Leigh WILSON	2	0.00646	0.01292
Transfer to Leigh WILSON	1	0.01447	0.01447
Transfer to Leigh WILSON	2	0.44690	0.89380
Transfer to Leigh WILSON	47	1.00000	47.00000
Transfer to Carole WISE	4	0.00646	0.02584
Transfer to Carole WISE	5	0.44690	2.23450
Transfer to Carole WISE	62	1.00000	62.00000
Value of non-transferable ballot papers			247.86025
	Total		596.82269

This report contains the transfers results.

Stage 7 - Exclusion of Carole WISE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Karen ALLAN	0	0.00000	0.00000
Transfer to George CARR	0	0.00000	0.00000
Transfer to Patrick COFFIELD	0	0.00000	0.00000
Transfer to Bill HOWATSON	3	0.00646	0.01938
Transfer to Bill HOWATSON	1	0.01447	0.01447
Transfer to Bill HOWATSON	4	0.44690	1.78760
Transfer to Bill HOWATSON	43	1.00000	43.00000
Transfer to Jeff HUTCHISON	0	0.00000	0.00000
Transfer to Dave STEWART	0	0.00000	0.00000
Transfer to Leigh WILSON	5	0.00646	0.03230
Transfer to Leigh WILSON	5	0.01447	0.07235
Transfer to Leigh WILSON	7	0.44690	3.12830
Transfer to Leigh WILSON	687	1.00000	687.00000
Value of non-transferable ballot papers			80.67339
	Total		815.72779